

#### LOCATION

Island Shangri-La, Hong Kong is conveniently located in the heart of Central and amidst the city's most prestigious shopping, cultural and business addresses. The hotel is directly linked to Pacific Place shopping mall and the Admiralty MTR Station, and is just a short walk to Hong Kong Park, The Peak Tram Station and the most popular Soho and Lan Kwai Fong districts. The Hong Kong International Airport is also just 45 minutes away.

#### **ACCOMMODATION**

The hotel comprises 523 superb guestrooms and 34 expansive suites which are among the largest in any hotel in Hong Kong. All rooms are exquisitely appointed with Asian-accented European furnishings and command magnificent views of the city, The Peak or the world-famous Victoria Harbour.

#### HORIZON CLUB PRIVILEGES

The Horizon Club provides the following exclusive benefits:

- · Daily breakfast
- · Personal concierge and secretarial services
- · One complimentary suit pressing per stay
- · Daily newspaper and fresh fruit

### YUN WELLNESS

- · Fully equipped gymnasium and class studio
- · Outdoor swimming pool
- Sauna and far infrared sauna
- · Facial, hair and body treatment



#### **GUESTROOMS**

Categories	Rooms	Area (m²)
Deluxe Peak View Room	150	41
Deluxe Harbour View Room	60	44
Premier Harbour View Room	41	44
Grand Premier Peak View Room	96	41
Grand Premier City View Room	28	44
Grand Premier Harbour View Room	56	44
Horizon Peak View Room	52	41
Horizon Harbour View Room	40	44
Executive Suite	8	82
Cityview Suite	9	85
Harbour View Suite	5	88
Premier Harbour View Suite	7	88
Specialty Suite	4	132
Presidential Suite	1	210

## **GUESTROOM FEATURES**

- Satellite / cable TV and in-house movie channels
- Mini bar / In room pantry
- IDD telephones with data port and voice mail
- Electronic safe
- · Tea and coffee making facilities
- · Pillow menu

#### OTHER SERVICES AND FACILITIES

- · 24-hour in-room dining
- Florist
- · Limousine and car rental services
- · Safe deposit boxes
- · Same-day laundry and valet services
- Complimentary wireless broadband Internet connection throughout the hotel

# RESTAURANTS AND BARS

Restaurants / Bars	Capacity	Location	Cuisine
Island Gourmet	30	Level 5	Patisserie and snacks
Summer Palace	180	Level 5	Cantonese
Lobby Lounge	76	Level 6	Afternoon tea and snacks
Lobster Bar and Grill	92	Level 6	Seafood and grill
cafe TOO	266	Level 7	International and buffet
Nadaman	126	Level 7	Japanese
Restaurant Petrus	90	Level 56	French

BANQUET AND CONFERENCE ROOMS										
Venue	Reception	Theatre	Capacity Banquet	Classroom	U-Shape	Dimensions (m)	Area (m²)	Ceiling Height (m)		
Level 5										
Island Ballroom	1,000	700	540	300	-	43 x 15	645	4.45		
Ballroom A	200	150	120	72	45	13 x 15	195	4.45		
Ballroom B	250	220	160	100	50	17 x 15	255	4.45		
Ballroom C	200	150	120	72	45	13 x 15	195	4.45		
Taishan Room	80	70	60	54	38	9 x 14	126	3.23		
Huashan Room	50	30	36	24	16	8 x 8	64	3.91		
Hengshan Room	20	20	12	~	-	7 x 3.5	24.5	3.91		
Songshan Room	20	20	12	~	-	7 x 3.5	24.5	3.91		
Hengshan & Songshan Room	ms 30	40	24	~	-	14 x 3.5	49	3.91		
Tianshan Room	50	30	36	24	24	9 x 8	72	3.94		
Lushan Room	50	30	36	24	20	11 x 7	77	3.94		
Tianshan & Lushan Rooms	100	80	72	60	36	20 x 7.5	150	3.94		
Level 39*										
Atrium I and II	200	180	144	108	48	12 x 18	216	4.2		
Atrium I	50	30	24	-	-	12 x 5	60	4.2		
Atrium II	150	105	84	60	36	12 x 13	156	4.2		
Venue		Banquet	Capacity	Boardroom		Dimensions (m)	Area (m²)	Ceiling Height (m)		
Level 39*										
Jade I		-		14		8 x 4	32	2.6		
Jade II		6		-		5 x 4	20	2.6		
Jade III		-		10		5 x 4	20	2.6		
Opal		6		-		6 x 4	24	2.6		

 $<sup>^{*}52</sup>$  business rooms with murphy beds on Level 39 and 40 are available for breakout sessions.





